Multiplication par 10 (C)

Trouvez chaque produit.

57 X 10 = 31 x10=
10 x 10 = 2x10=
26 X 10 = 33 x10 =
24 x 10 = 22 %X 10 =
94 x 10 = 71 x10 =
98 X 10 = 77 X 10 =
29 X 10 = 7xX10=
14 x 10 = 96 X 10 =
97 X 10 = 65 %X 10 =
58 X 10 = 45 x 10 =
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Multiplication par 10 (C) Solutions

57 x 10 =570

10 x 10 =100

26 X 10 = 260

24 x 10 =240

94 X 10 =940

98 X 10 =980

29 x 10 =290

14 x 10 = 140

97 x 10 =970

58 x 10 =580

Trouvez chaque produit.

31 x10=310

2x10=20

33 x10 =330

22 x10=220

71 x10=710

77 x10=770

7x10=70

96 X 10 =960

65 %X 10 =650

45 x 10 =450
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